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Carefully read the instructions given on Question Paper,
OMR Sheet and Answer Sheet.
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Question Paper is in Hindi and English language.
Candidate can choose to answer in any one of the language.
(i.e., either Hindi or English)

TH WIS/ TR % W €| W Tk H =R 99T 3R 9
1 ure g ¥

There are TWO PARTS in this Module/Paper. PART ONE
contains FOUR questions and PART TWO contains FIVE
questions.

T Uk ' Jehfeush’’ TR T § fIEeh it 3 40 € qe
YRT &1 AT '’ TR 1 & 3T 59 Fel 37k 60 T |

PART ONE is Objective type and carries 40 Marks.
PART TWO is Subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER
SHEET only, supplied with the Question Paper, as per the
instructions contained therein. PART ONE is NOT to be
answered in the answer book for PART TWO.
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Maximum time allotted for PART ONE is ONE HOUR.
Answer book for PART TWO will be supplied at the table
when the Answer Sheet for PART ONE is returned.
However, candidates who complete PART ONE earlier
than one hour, can collect the answer book for PART TWO
immediately after handing over the Answer Sheet for
PART ONE to the Invigilator.
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Candidate cannot leave the examination hall/room
without signing on the attendance sheet and handing over
his/her Answer Sheet to the Invigilator. Failing in doing
so, will amount to disqualification of Candidate in this

Module/Paper.
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After receiving the instruction to open the booklet and
before starting to answer the questions, the candidate should

ensure that the Question Booklet is complete in all respect.
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Note : In case of any discrepancy found in Hindi version, English version will be treated as final.
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




HUT Ueh / PART ONE

(T 99 o ST S / Answer all the questions)

1.1

1.2

! UieR U9 o ST ok R (aehed fU T
gl T Wed g fashew g ot 3@
YI-UA oh | ST R Y STHAR "
S-vek H, fau T frdeil o e, o
Eadl

Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the “OMR”

answer sheet supplied with the question

paper, following instructions therein.
(1x10)

W3 THA. (POST) el feerd Bram & 2
(A) ELIATLTA. (DRAM)

(B) @ A

(C) ¥MTTA. (RAM)

(D) SRILTA. (ROM)

Where is POST located?

(A) DRAM

(B) Hard-drive

(C) RAM

(D) ROM

STH.TH. Aedeh &l dH1 IHE gonterd |
oS foran mn  e1erfq

(A) THUH., ol.TH.TH., S.TH.TH.
(B) Stud.wy., stuEdl., THTaH.
(C) HIivaud, stTaH, sigaT.

(D) TH.TH., 9.3.00.Td. TA.TE.H.
The GSM network is divided into the three
major systems namely :

(A) SS, BSS, 0SS

(B) BSS, BSC, MSC
(C) CELL, BSC, 0SS
(D) SS, CELL, MSC

1.3 ... 149.%, F=fatad 3 9 forg <wiewd

1.4

TR A T ?

(A) faSe, f% vy tam IR foaTa

(B) o€t 2000, foEs T, faers foe,
oSt 7 3R foamem

gk fae, fomed, T 3iiuy tey
THTE-219 SR foee & T smEia
ENEIRN

Which of the following platforms does
CHKDSK run on ?

(A) Windows, Mac OS X and Linux

(B) Windows 2000, Windows XP,
Windows Vista, Windows 7 and
Linux

Microsoft Windows, Linux, Mac OS
X

MS-DOS and NT-based versions of
Windows

©)
(D)

©)

(D)

e e gt TR war § 1 1= Ted alieh
Y IR il €, N faeen gfe ogd wid &,
Tl SERT HTferd shIuT &1 Fohdl © :

Teh IoRE A Taew 1 9efaa =2 fean
¥

(B) TS TEA H T TN THI & 71 §
AN TE W e @R

HieR STl e B 81 T © SR e
Aferh TH A w17

If a PC freezes or behaves otherwise
erratically, and the system unit is very
quiet, the most likely cause is :

(A) A virus has infected the system

(B) Thehard-drive is almost out of space
(C) The CMOS RAM is failing
(D)

D) The power-supply fan has failed and
the system is overheating
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1.5

1.6

1.7

T I GLE A1 YIEY Sl Herdd
X §, foraent o1ef ® T 3 for 0 ® v
e s €1

e

I gt

__________ refers to the structure or

format of the data, meaning the order in
which they are presented.

(A) Semantics

(B) Syntax

(C) Timing

(D) All of the above

H R i IS o o FAR H

TR A 2 |

(A) siHfen (B) ®Ih-gwiod
(C) Po-g=id (D) Towr
Communication between a computer and
a keyboard involves ___
transmission.

(A) Automatic (B) Half-duplex
(C) Full-duplex (D) Simplex

TOR & H Aqed iR AR anfoes
T forT G i AHR § 2

(A) SEAF-A (B) MEIIL

(C) UHHLHL (D) STE.TH.3T.H.

Which organization has authority over
interstate and international commerce in
the communications field ?

1.8

1.9

1.10

1. TH.STE. SITR T Hohdl kI YT I dlfcheh

TRl U FAfeed il § SU Y Hhed © ¢
(A) YR (B) fwfSea
Q) <a-fa= (D) TwAhe™

The OSI layer that arranges signals into
logical units of information called frames.

(A) (B)
©) (D)

Transport

Data-link

Physical
Application

foersl 2k TSR &l WieH & fag
g |
(A)
(B)
(©)
(D)

Shift + Alt + Ctrl
Ctrl + Alt + Esc
Ctrl + Alt + Delete
Shift + Ctrl + Delete

Press
manager.

Shift + Alt + Ctrl

B) Ctrl + Alt + Esc
Ctrl + Alt + Delete
Shift + Ctrl + Delete

to open the windows task

WoHTE. ¥, TF IS R 9 I w e
T o forg Tt foshed 1 € 2

(A)  #pl}

B pill

© -pll

(D) W B &

In CSS, what is the correct option to select
all the tags on a page ?

(A) ITU-T (B) IEEE (A) #pi} B pil
(C) FCC (D) 1SOC ©) .pl} (D) None
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2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

=1 fau T uieR farawoT o of wé ¥ SterEr
TAd| Teh ol SUFert faeheq o+ 3iiv
30 YYA-UF & 9TY SUAS hIH T
" SiTHS " SRL- TR W, S feu g e
% AR, TSI hi | (1x10)

9 Gt & fou fewiee 91 9@ 80 B

Oied o9 wEa IaieT 9mr=d: TERT i
ToE 2 9 WA B

Tded 9d 1 ITANT Hedeh W TRT FN I8
freifiq s & forg fopan i @ T Sohe =0
T 3o feTT ® 1 o1 B & fam)

FAT o H STEUT Tl b1 S 192-223 ¥

39 3T e & THae Sl GEd Hh
TEIR F ST HH qF Tgad d T
T T

T TRHE det Tk Y feama swdm
foran S B

AT ol A G AT W TR LA
& foru 39 o1 S areft fafy w6l gEEr
ERISIGIES

HefdeR Teh GI9eaal & S &7 Hifge anmd
T IYAN & U Sty g |

o T arfeier o T 7 hedl B

2.10 1 Sftsl 1050 WIS & IR B |

2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

Each statement below is either TRUE or
FALSE. Choose the most appropriate one
and enter in the “OMR” answer sheet
supplied with the question paper,
following instructions therein.

(1x10)

Default port number for Web Server is 80.

The model that file sharing normally uses is
2-way sharing.

The destination address is used by hosts on
the network to determine whether the
packet or frame is intended for them or for
other hosts.

The range of IP addresses in Class B is 192-
223.

You can prevent spyware from accessing
your computer by keeping your computer
password protected.

A barcode reader is used an input device.

The method used to transfer information to
far off places instantly is called
telecommunication.

Malware is software that is available for use
at low monetary cost.

LAN Switch works on datalink layer.

2.10 1 GB is equal to 1050 megabytes.
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3. e X ¥ fou @ wrsdl 3R areRi a1 faes whiem Y o fau o frerean wwifea stef /vrsdi/
arerll | Y | 30 fashed wo-us o el fqu e ' sliuHe ! Se-uses |, S6H fqu T areei

T T i §T, T ahi | (1x10)
X Y
3.1 |9 ugy A. |fOem Hifean st
3.2 |TR. B. |4 fawn ¥ faid 92 i
3.3 |Hee.3. Y TR, C. |IR wHiE
3.4 ;:j;t%; ______ s A D. [Hheld o STeiiien
3.5 |efe Hfeag E. |fe FefHeTa
3.6 ST T F. [Saifeis o
3.7 |22 G. |7e dteTEaiT™
3.8 |Tae H. |fRfSea oer
3.9 [Sfdft T TN T § I |16-foe Tag
i1 et = aett o fewn 9
3.10 jjz:ﬁm@m% e J. [gh i
K. [f5Se Hifean ueierem
L. |®iHe
M. |ThIM R

Page 5 SPACE FOR ROUGH WORK M4.3-R4-01-20



3. Match words and phrases in column X with the closest related meaning/word(s)/

phrase(s) in column Y. Enter your selection in the “OMR” answer sheet supplied with

the question paper, following instructions therein. (1x10)
X Y
3.1 |Port address Windows Media Audio
3.2 |ARP Set date in DOS system
3.3 |NetBEUI User command

Transmission media are directly

from a slow-running hard drive

3.4 controlled by the Congestion avoidance algorithm
3.5 |DotMatrix Disk cleanup
3.6 |(WMA Datalink layer
3.7 |Date NetBIOS
3.8 |Telnet Physical Layer
3.9 |TCP uses 16-bit length
A utility that removes unnecessary files )
3.10 Impact printer

Windows Media Application

Format

Application layer
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4. 9 e e B Y S TE g 9 Uk 9SS AT 91e hi T & forg faa o ¥ wew
IugE faehed T SN S8 YvA-ux o e fou e ofiume R’ Se-veeh H, 3eH fou T et

¥ AT, T W (1x10)

A. [Fa9q B. [T AR C. |[d9mesa fom

D. [tfseX E. {0 F. [NSLOOKUP

G. [FRX H. |7 3T I 3=

J. |gHTURTOT K. |traceroute L. [USieIM TR

M. |tracert
4.1 92 9fhAT < 37 H STTR @M 37 M IR THEE & T CEIASIGI
4.2 | @ gAT | Ot BERT R
4.3 TH HPR S U HH 1 3T HH § 3 He W 1 FaTd Y T §, Th gl
4.4 Teh FHHIS- TS STANTA & FTEhT ST 319 3/ 92F 31 Tl T & fAq T Tohd & T

32 YeIehicl (STE) Yehe o9 Tided T el el & |

4.5 T T T § 9 T IR eash H AoaH g STEn fve S a1l |ien =R
Tk SR SRy fafirl =i ffde s 2

4.6 T ST iR Uise | Tohss Ufd & SR T & o1 Uoh SRUR(eish i =37 & &
faw _ few SR

4.7 T et a1 |iweas 2|

4.8 THeE T wEd Y T U HI ST Gl § |

4.9 T TR WA 1 YR 7|

4.10 HAS Tk eaeh Jfefee! Tum § S STEnT Setie 9ok & ar H IHwR I ]
% fau foman ST €

Page 7 SPACE FOR ROUGH WORK M4.3-R4-01-20



4.

4.1

4.2

4.3

4.4

4.5

4.6

4.7

4.8

4.9

4.10

Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list

below. Enter your choice in the “OMR” answer sheet supplied with the question paper,

following instructions therein. (1x10)
A. |Verification B. |Application Layer | C. [Recycle Bin

D. |Register E. [Nero F. INSLOOKUP

G. |Server H. |[MacAfee I. |Tab

J. [Authentication K. [traceroute L. |Presentation Layer

M. |tracert

The verification of your login name and password at the end of the boot process is called

is a faster memory than RAM.

A computer that provides services to other computer programs in the same computer or

other computer is a

is a command-line utility that you can use to trace the path that an Internet

Protocol (IP) packet takes to its destination.

is an abstraction layer that specifies the shared communications protocols and

interface methods used by hosts in a communications network.

is used to select one hyperlink after another during a slide presentation in

PowerPoint.

is a CD burning software.
Deleted files can be retrieved from

is a type of Antivirus program.

command is a network utility program used to obtain information about internet

servers.
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W & / PART TWO

( for=dl = woel o S e/

Answer any FOUR questions)

HET YUITE! i Hol FL=HT i SHTRAT
| Teh HSLEIS it FiATET SHrATcehdl
FT?

TiafeH AT 9 § 2 SiAieE Hiemm
% YR T |

Explain the basic architecture of the
computer system. What is the basic
functionality of a Motherboard?

What is transmission medium?
Explain the types of transmission
medium. (7+8)

FfET H FARe /TR fafer i Th
IR0 o |1 AT i |

WSO 3TN o YehTll oh] SHARSAT h |

Explain Client/Server method of
computing with an example.

Explain types of storage devices.
(7+8)

(©)

<1 HHEYH Ifefadt i wrafeeRd =t

ST |

TE fer gra =1 Sfhfd i A
|

e TS IeE = R 7w |

TSET ThiA ISTEL0N o WY THSATT |

Explain the functionality of Data
Compression utility.

Explain the geometry of hard disk
drive.

What is IP addressing scheme?
Explain class C addressing scheme
with example. (5+5+5)

e stfafen faen ¥ @R & wed
FY YW T ST Fehell € 2

TTE feta &1 ShTHYH 1§ 2 395
FNATE?

T S 2 S H ITANTehdl el
TSH I HT HIFHR H Fehell T 2

How lost files can be recovered in
Windows Operating System?

What is Defragmentation of Hard
Disks? What are the advantages of
it?

How can user configure IP address

in a Desktop Computer? (5+5+5)
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o o

foSrsl Ta. U1, sht faey R haRMiae

i T |

oY ATRET faey o1 990 e Th
T 3R Gl BE fem = 9
TS L © ?

o B &1 =aren i |

Explain System Restore functionality
of Windows XP.

How to format a primary and
secondary hard disks by using DOS
Operating System?

Explain static routing. (5+5+5)

-00o0-
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